2x3~M10x20

1 | 2 | 3 | 4 | 5 | 6
Mg Spec. BOTE  mm| TUTE(EE)mm | KEEE Chucking Dia. mm | BREBI#EN kof RAREN kgf REEBE rp.m. _ 2R kg |z pPpe Confirmed
A= Model Plunger Stroke | Jaw Stroke (Dia.) | ®X Max. | &N min. Max D.B. pull | Max clamping force Max speed kg 'm’ Weight
5D-12 15 10.8 504 o0 4590 /7650 2000 0.79 /0
XEIRHAE R ERE E—HE@E .  *Please send back with order while ordering.
max. 70
min. 55
max. 19
min. 4 51 60
2x3~M16x35
prw p.c.d 171.45 |
— _ <
\\_ _=\" \_ N N M
~ B y
N =k J
= A _l\_ B ” S
N _FL\\ ] Q| =
max. 49.5 Etﬂ\ _ °3 @
50 min. 34.5 _ _ | - x
[ - _ w.m P
< T | - = ) N @
3l ol 483 : - — < ] | e
sl N S| & ™~ J | —
< _ _ J SN
@) 2 - N ? o
M27x130L | ﬂ 21 C ~
12\ =
22 _ 3~M6x16 M16E27 N @P
_ AR S
E=— N/
6~M16x125
5 N\
R\
@ R

M10%&20 \

60

I
|
12

5

hE g = TR

X AEREDDEOSEE MO EHEESEIIE M . ¥Subject to technical changes.

VGI2ER D)

=5

TR T HER )

AUTOGRIP MACHINERY CO., LTD.

Adh (AR B

i

AKD1312100G

B

Ko

B

2021-03-26

EHES

\CHK\CF-3D—12




